=3
M7= 2aY n= gst A9l Q=

HM7h= 2= 2o AU 7|1E3|51FE ma|EZTIX| Ho{Ql ZAEIS| & 52 HAE o

o= Z2Y Ao =4 27101 2i=0{of XpulZE A ==L

English Class

Hojyl go 3|3} Z=FHt

2F 6/8(2) 712/ tiF E 3 10:00~11:25
33AZH11F) / 2= 140,000
2« 12d

ORZHIt 6/9(3) 7% / i & = 19:00~20:20
33AIZK1ZF) / 4= 140,000
ZEo 121

Yot goizjst T4t

2 6/9(3H 42/ i st = 10:00~11:25
33AZHNF) / £4= 140,000
DEOR ;10

OFZHEt 6/8(8) 742 / oiF &, %, 2 19:00~19:50
33AIRH11) / =22 140,0008
2RI ;129

Chinese Class

Fato] 712 HS.K A2 % djulut
HAY XIE / = &) 4 20:00~21:30
36AIZH12) / 2= 240,000¥

2ERIH : 158

Z30] 2-FF HS K A#AZ djulut
Wzl X" / o St = 20:00~21:30
36AIZH12F) / 4= 240,0008
Dxloly 159

HIZU A F30] Ags)shil
Tz XIE/ ofF st = 19:00~19:50
24AIZH12%) [ 4242 1500008
DRI : 15H

H]A YA F=0] & Sjshit
e KPS / OfE B, 4 19:00~19:50

24NZ2H125) / &= 150,000&
DEQIA : 159

Japanese Class

deo Y= EERE

6/9(2h) 742 / o 3t = 18:00~19:15
30A1ZH12%) / +=2i= 150,000
S2ERIA - 129

QBoj 2 JPT/JLPT A2 24}

6/9(=h 742 / oi= =k Z 19:25~20:40
30AIZH125) / 4= 180,000
SEPIA : 12H

TE F2 =0 1SS MAUK|=

AAEL| 220 mR0| B HHHR|T U= BAIS AlcH! SHUS0|
LEAA 2 - E7| - o717t Zelikls A o L3 2l=0] S22 TIEILIC]

% 2 HAE 3 o BAZ AR

English Class Chinese Class

ojgo] Hojgl Foi33t =g4t
6/8(2) 71 / i g, =+, = 16:00~16:50
33A1ZH11F) / +Z= 220,000

2RI : 129

ojgo] Yoyl FojF3t FF4t
6/8() 7z / tiF &, # Z 17:00~17:50
33AZH11F) / 2= 220,000

DEQI : 121

ojgo] YojTl ¢7](Reading)yt
6/9(z) 71 / i St = 17:00~17:50
22MZH11%) / 2= 160,0008

LEQIR 128

Yolgl 5 - T Foleispt
6/9(2) 72t / 05 2, B 18001850
22MZH11) / $24= 160,000

SERIA : 12
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i
140
2
e
o
o
1o
mp
ics
1o
2
4]

F=0] T~84) AERt
SAIZE / 01 8, 2 16001650
2UARN12%) / 422 180,000
27018 : 153

330 25 g2y

SAZE [ i g £ 2 16:00~16:50
3BAIZH12F) / 4242 240,000
LEoIA : 159

F=o] 25 3|5t

FAZE [ 0fF & 4 F17:00~17:50
36AIZH12F) / 428 240,000
QR 159

50 2-F- 1 ZA | Fut
A2 / 0fF & = 17:00~17:50
24AI7H12%F) [ 2= 240,0002
SERIH : 10Z









